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1. A watermelon is cut in two parts in ratio
3 : 5 according to the weight. If the bigger
part is again cut into two parts in ratio of
5: 7, then the ratio of these three parts is

200 BuonBab, S8, wrdesmeN 3 :
5 wabmédeg QTR oninwaN
33030rhBT. WA Wonad, DB 5:73
D TIBTO OV eniniweN 880ITT, S

R PNNY T3 50RdRANO

[SSC (10+2) 2012]
(a)15:25:26
(b)5:7:9
(c)3:5:7
(d)36:25:35

2. The ratio of the sum of two numbers
and their difference is 5 : 1. The ratio of
the greater number to the smaller number
is

QTR KSoaS’asﬁ%’ dfa§ d)d)_. YN 55335?&563
odT3x 5 : 1. d/acg KSoaf?S d)d)_. 'e.3i§‘5
éoai‘érw DB BoRSBAO[SSC  CGL
2011]

(a)2:3

(b)3:2

(c)5:1
(d)1:5

3. The ratio of the areas of two triangles is
1: 2 and the ratio of their bases is 3 : 4.
What will be the ratio of their heights?

QTR 3 Bresny ITednY DT3P 1 :
2 DA PYNY DNy oz 3 : 4.
OJYNY OZVNY ODTBY oR)?

[SSC CPO 2018]
(a)1:3
(b)4:3
(c)2:1
(d)2:3

4. A certain amount of money is divided
among X, Y and Z. If X receives 25% more
thanY and Y receives 25% less than Z, then
X:Y:Zisequalto

&'.)&FE(SJ 3R33 589552( X, Y DD Z IS

QonBTJeroNd. X Y Aod 25% ®ed) 3y Y Z
Aod 25% 38D BTG, X : Y : Z

1 SN DIT

[SSC MTS 2013]
(a)12:10:11
(b)14:12:13
(c)15:12:16
(d)10:9:12
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5. The sides of a quadrilateral are in the
ratio of 3:4:5:6 and its perimeter is 72
cm. The length of its greatest side (in cm)
is

B8 /N 3 : 4 : 5 : 6 T
ODBIBBIDES D) ¥TT H0Palw 72

Jo.cbe. ©@dd degd Poid  evd
(So. KSQ). [SSC CGL 2010]

(a) 24

(b) 27

(c) 30

(d) 36

6. If the length of a rectangle is increased
in the ratio of 6 : 7 and.its breadth is
diminished in the ratio of 5 : 4, then its
area will be diminished in the ratio of

203 8033 emcgwdg( 6:70 eﬂmmédeg

BBABT D) o880 enoad 5 : 4 T
oD TIBTO BRDPVITT, 0933
QLR D TISTO
3R NHIT.

[SSC CGL 2010]
(a)17:16
(b) 15: 14
(c)9:8
(d)8:7

7. An employer reduces the number of his
employees in the ratio of 9 : 8 and
increases their wages in the ratio of 14 :
15. If the original wage bill was X 18900,
the ratio in which the wage bill is
decreased, is

VTR ENTIBD 33 VTR eNNY
Qoo 9 8 T oDz3BY
I IDIIS DD 14
ODDBBY TV SIS, B DTIS.
S JeST Ve X 18900 sNFT, SeSIT

Ve 3R B D3 oR)?

[SSC CGL 2011]
(a)20:21
(b)21:20
(c)20:19
(d)19:21

15 O

8. The ratio of the students in schools A, B
and Cis 5:4:7. If the number of students
in the schools is increased by 20%, 25%
and 20% respectively, what would be the
new ratio of the students in schools A, B
and C?

d NV DD d TInY ama@sma
ODTBH) 5: 4 : 7. TNV améasm;
Sogf,obD, BHTeN 20%, 25% DR 20%
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o), BT, JTYBENY BT DT

11. Divide 13680 in three parts such that
1st part

aR)? ZodnW @, D D) ? 3
: th js is of the third part and the ratio
:5:7
:Z; 35’.0 .525 5 between 2" and 3" partis 4 : 7. How much
(c) 30 X 70 - 9 is the first part?

(d) Cannot be determined
(e) None of the above

2a%+3c%+4e?

13680 o Swed ennwaN Qon&A,
00T 1 Je ot 3/5 Je Pona) IweTJe
PornmoNd D) 2 Je DA 3 Je Yonid

9.|'|:E £—2—3 then iy —r———
v a7 2”2 +23d3 +24f4 , SRS DT3P 4: 7. ST ot o) ?
a_c_e a“+3c“+4e
p=a- 5 3eNgo, on o Y [RRB NTPC 2016]
30 &BO [SSC CGL (a) 3780
2011] (b) 3600
(a) 2 (c) 6300
(b) 3 (d) 4800
(c)4 x g o
(d) 9 12. Asum of X 3170 is divided among X, Y

10.If x : y=2:1, then (5x% - 13xy + 6y?): (x?
- y2) is equal to
x:1y=2:1AGT (5x- 13xy + 6y’): (x*- y?)

and Z such that if X 13, X 12 and X 18 will
be diminished from the shares of X, Y and
2 ratio of 20 : 18 : 21. What is the initial
share (in X) of 2?

X 3170 dfagddg‘ X, Y DD Z Y IDS

8, FReSTNDBE
¢ 1= QonBReeNG ©ordd X 13, X 12 B3 X 18
[SSC CPO 2010]
R 3 X Y D) 2 odb@e33 20 : 18 : 21 3
(b)‘i BehriPord  BBBANWBD. 8803
(c) 3 Sed AP (X) I 2?
(d) ‘1—5 [SSC (10+2) 2016]
(a) 1131
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(b) 1530
(c) 910
(d) 1350

13.1fP: Q:R=5:3:6, then what will be
the ratio of (P/Q): (Q/R): (R/P)?
P:Q:R=5:3:6 aNgg, (P/Q): (Q/R):

(R/P) T3 HXNDLIT?

[SSC Constable 2013]
(a)50:15:36
(b) 50:45:36
(c)75:15:36
(d)40:12: 27

14.X 53 should be divided among A, B and
C such a way that A will receive X 7 more
the B and B will receive X 8 more than C.
The ratio of their shares is

R 53 o A B DR C ¥ IDI
JdonBTed) woBT A X7 &ad), D3 B C
Aod X 8 Teud) IBAIBT. I3 JehnY
ODTBY) OR)?

[SSC Constable 2013]
(a)16:9:18
(b) 25:18:10
(c)18:25:10
(d)15:8:30

15. 20 boys and 32 girls form a group for
social work. During their membership
drive, an equal number of boys and girls
also joins the group. How many members
does the group have now if the ratio of
boys and girls is 3 : 47?

20 DRAD DD 32 DBDNADLD

SreuTedmmoN o oS, TLTIT.
30 IBIS, VPIIIT  IDDTO,
SR Josi;ad BRI S BMWNADD
JB rhodri JFehI3T. DANRD DR
B@DNODT ODTSF) 3 : 47 SNFT o)
Bin oR), ITLOJ, BRoHT?

(a) 75
(b) 86
(c) 68
(d) None of these

16. An alloy contains copper, zinc and
nickel in the ratio of 5: 3 : 2. The quantity
of nickel (in kg) that must be added to 100
kg of this alloy to have the new ratio of 5:
3:3is

200 DBeieedy 5:3:2 3 D TIBTO

TR, BB DI B Oy BLOOHIT. 5
:3: 3 O @03 D3I, BeoTey B
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QDI deedd 100 337 FedJTesord JdBef
(BRDY) Byrees a=D)?

[SSC CGL 2011]
(a) 8
(b) 10
(c) 12
(d) 15

17. A sum of X 1050 is divided among A, B
an Cin such a way that the share of A is g

of the combined share of B and C. A will
get
X 1050 dfazéddg( A B 6)33 C N¥ IDI

QoNnBTBUNT, 8 Bedabd A ab meen B

DD C A 3 Toddeedd IedI 2/5

SNDHST. @ BBWWSAT
[SSC CGL 2013]

(a)X 200

(b) X300

()X 320

(d) % 420

18. A bag contains X 90 in coins of
denominations of 50 paise, 25 paise and
10 paise. If coins of 50 paise, 25 paise and
10 paise are in ratio of 2: 3 : 5, then how
many total number of coins of only 25 pai
will be required to make X 95?

oD ewdd X 90 50 &3, 25 BT DD
10 &, Swaeigad S nvs. 50 &4, 25
@& DB 10 S;Fab Joeniwd 2: 3: 5 T
eaabmédéﬂcgd, X 95 DoBen BeIw 25
ByVOD WEY, W), VIRNW WesrhSes?

[RRB ASM 2016]
(b) 120
(d) 135

(a) 80
(c) 140

19. A and B earn in the ratio of 2 : 1. They
spend in the ratio of 5:3 and save in the
ratio of 4 : 1. If the total monthly savings
of both A and Bare X 5000, then monthly
income of B is

ADR) B 2: 1 9 ToBBO OBV, IDH
5: 3 oD TIBTY WD BWSIT D) 4 :
1 3 &DTBTY LVEDBT. A D) e’
Q0BT e A8 evdzoodh X 5000

sAZT, B ab 35338 esmeah ox)?

[SSC CGL 2011]
(a) X 7000
(b) X 14000
(c) X 5000
(d) X 10000
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20. The respective ratio between Sita's,
Riya's and Kunal's monthly income is 84 :
76 : 89. If Riya's annual income is X
456000, what is the sum of Sita's and
Kunal's annual incomes? (In some cases
monthly income and in some cases annual
income is used.)

e, Bl DB BN ¥IT 3B
30000 T SRIS 9DH3F) 84 : 76 : 89.
000 ©I3 Teded eswoad X 456000
sAgdd, dedo DB) BDeef ¥IT Tode3
s50ld S8 oD)? (Bo JoBIenvd
Sed8 wmad DD Zud) Jodyenvd
DA BTIDHBRY WYIIHBT.)

[IBPS Clerk 2011]
(a) 1195000
(b) X 983500
(c) 1130000
(d) X 1038000
(e) None of these

21.1f 15(2 A2-B%) =7 AB and both Aand B
are positive values, then A : B is equal to

15(2 A2 - B2) = 7 AB 3 A DR B o8@R
(AINDE R &%oéﬁwﬁcgé, A : B

S ERvVarlgleikiag
[SSC FCI 2012]
(a)3:5
(b)5:3
(c)5:6
(d)6:5

22. A person spends 1/3 of his income on
food. He spends the rest of the income in
the ratio 4 : 1 on buying clothes and books
respectively. He spent X 2400 on the
books. Find the total income of man.

o) asééoi» 55RS°( espood3d 1/3 mﬁda{g(
B8HUT,N e BTN, 3D VT
B80T, 4 : 1 ¥DTISTY g aheveN wed
DD JIBAY,  00edIJw b
DTS, RYIBAVYT I 2400 F
BT, DIFR  we),  BTLBY,

B0 &BAO.

[NIACL Assist. 2018]
(a) X 18000
(b) X 24000
(c) X 12000
(d) X 14000
(e) None of these
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23. A person bought some rice and wheat
for X 380. The ratio of weight of rice and
wheat is 4 : 3 and the price of equal
amount of rice and wheat is in the ratio of
5: 6. The rice was bought of worth

Wy Bdodw X 380 3 o @3 DD
rtee®od, 20eDITD. w3, I rteedod

3R3T ODTSY 4 : 3 DA I
B,3068 3, D) rieedod TITFP) 5: 6 T
ODTISTOT. 30T, _ 23
00eDTINT.
[SSC MTS 2013]

(a) X200

(b) X 218

(c) X380

(d) X300

24. The respective ratio between Pooja's,
Prarthana's and Falguni's monthly income
is 53:70:57. If Prarthana's annual income
is X420000, what is the sum of Pooja's and
Falguni's annual incomes? (In some cases
monthly income and in some cases annual
income is used.)

R, DBFR DD Jewedadh Fed3
8539008 IS T3 53 : 70 : 57.

DYPF0 IV TS e3To0d X 420000

sAZdd, Fpwe DD Jweddd DodeS
803 e oR)? (30T éodzde'm’eg
08 BT0d DD 30T JorIenvd

DAFB BHIDTI, WYITHIST.)

[IBPS Clerk 2011]
(a) X 592500
(b) X 683500
(c) X 660000
(d)X 779200
(e) None of the above

25. The respective ratio'of the number of
boys to the number of girls studying in a
school is 25 : 29. The total number of
students studying in the school is 270. If 15
boys and 15 girls take admission in the
school, then what will be the new
respective ratio of the boys and girls
studying in the school?

20l Todahd LWHADHT  wewdadhd
Sogd it BWPNAT Josfodh eDmeBY 25 :
29. 2o LTHSDHT e, csz@s'rw
Sosd; 270. 15 TR DI 15 WERAADD
Zo FIed3 JFTT, B8R P33T
Zodabd  LDEADHI BDRDAD DI

DDADT BRI D T3?
[UBI Clerk 2010]
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(a)6:7
(b)8:9
(c)7:8
(d)7:9
(e) None of these

26. The ratio of the number of boys and
girls in a school was 5 : 3. Some new boys
and girls were admitted to the school, in
the ratio of 5 : 7. At this the total number
of students in the school became 1200 and
the ratio of boys to girls changed to 7 : 5.
The number of students in the school
before new admission was

WOl  ZJohOR DB BDNobI
Soadod DB 5 : 3 BN, B BRI
DDRD DD BDDADIR,  Tedr
JedJBwoddD), 5 : 7 T &DTSTY. s
SDHBY ToSod e, ITYRENY FBoad,
1200 sdd DD DDADARD DD
DDADT DB, 7
WBTATINT. BRI JBedd, ST
Zodab T BFNY Josl; aad),?

[SSC SAS 2010]
(a) 700
(b) 720
(c) 900
(d) 960

5 8§

27. The incomes of A, B and C are in the
ratio of 7:9: 12 and their spendings are in
the ratio 1 of 8 : 9 : 15. If A saves % th of
his income, then 4 the savings of A, B and
C are in the ratio of

A, B D C ¥ espocdad 7: 9: 12 T
D TIBTODH BT DB) 933 »eNL 13
8: 9: 15 3 oDD3BODSE. A 33
3000003 % th eﬂaig( VRATT, SoST 4 A, B
o evezd DD D
D TIBTOD ST

[SSC CGL 2011]
(a)69:56:48
(b) 47 : 74 : 99

(c)37:72:49
(d) 56 :99: 69

28. The weights of Mr. Gupta and Mrs.
Gupta are in the ratio of 7:8 and their total
weight is 120 kg. After taking a dieting
course, Mr. Gupta reduces his weight by 6
kg and the ratio between their weights
changes to 5:6. So, Mrs. Gupta has
reduced her weight by

3e @ DR 3edd @ ©IT SBF)
7:8 O oDToBTIDBT D) ¥TT e,
Sp8 120 3. ©FUZDT BeeF

H
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3richdrod So3T, Be Nz iIdh S,
BRI, 6 BLaba), 3B BT )
30 33T FRDIT DTSY) 5:6 3,
WBUINBE. Toreh, BeDd Ty D,

SRBI, o), BBD eBBZROBHIT ?

[SSC CPO 2009]
(a) 2 kg
(b) 4 kg
(c) 3 kg
(d) 5 kg

29. In a certain interview, the ratio of the
number of selected candidates to: the
number of rejected candidates is 7 : 4. 8
more candidates were selected, then the
ratio of the number of selected candidates
to the number of rejected candidates
would have been 9: 2. Find the number of
candidates who got rejected in the
interview.

WOl J0FR JoBBEITY,  es0d), 03T
0 BFAY Josk D) 38,03 eI dery
Jodt eDz3BF 7
eswéamvéd& esol), SeBUNG, o3BT
ol oded e Beny  IJoyfab I
307,038 Py BnY  oDzBF 9

4. @Kifg(s

sADIBE: 2. JoBIEIBY 33T, 03

2 BFMY Boad,abd) o HAMB.

[SBI PO 2019]
(a) 20
(b) 16
(c) 12
(d) 24
(e) None of these

30. What is the ratio of the mean
proportional between 8.1 and 3.6 and the
third proportion'to 2 and 3?

8.1 ) 3.6 B FDWAS IR0 WRTIIT
BT3B DR 2 DD 3 1 RwedTe vvTI
Hrb?

(a) 2:3
(b) 5:4
(c) 6:5
(d) 4:5

[SSC CPO 2019]

31. If a packed of 10 mirrors is thrown,
then which of the following will not be the
ratio of broken mirrors to unbroken
mirrors.

10 338MY e oY oIV, o
SYARNVE airch 0T 838 I

0003 6@(&&.} esa’nmémrb@&oﬂ?
[RRB NTPC 2016]
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(a)8:2
(b)5:4
(c)1:1
(d)2:3

32. The cost of a diamond varies directly
as the square of its weight. A diamond
broke into four pieces with their weights
intheratioof1:2:3:4.If the loss in total
value of the diamond was X 70000, what
was the price of the original diamond

33 23S SedmeN BT BR33 308T03
wBU3d. IR 1 : 2 : 3 : 437
ODTBTY Foew, BoNYN wWALB.
3IRT e, ab’avé X 70000 N30, Sweo

3B 23S o) ? [CDS 2017]

(a) X 100000
(b) X 140000
(c) X 150000
(d) X 175000

Hage |
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